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A small tariff increase 

Producer gain 
Revenue gain 

Distortion losses 

Consumer loss 

Overall, net loss – but not necessarily if producer gain has higher weight 



Rodrik’s point: suppose you want to help garment workers. You 
 could: 
 
1. Give them money 
2. Subsidize garment employment 
3. Subsidize garment production 
4. Protect garments with a tariff 
5. Protect garments with an import quota giving foreigners 
        the licenses 
 
These are in increasing order of economic inefficiency. Why are 
 they also in increasing order of actual occurrence? 



Grand contrast between US and UK 
 
UK moves to free trade; repeal of Corn Laws in 1846 
 
US moves to protectionism 







Clay’s American system 
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